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Q.14

4. On one hand, franchising offers only benefits to franchisors and franchisees. For example,
frnachising allows franchisors keep growing, as franchisees open up businesses through
them, meaning that the franchisors still make an income, from work that someaone else is
doing for them, they are also making an income from the money that the franchisee pays in
order to be able to franchise. This allows the franchisor to work on his business, making
revenue through there, as well as recelving revenue from the franchisee. This also helps
build brand awareness for the frnachisor, which results in more customers, and therefore
increased sales and higher profits. This also allows the franchisee to gain enterprise
experience, whilst doing so with an already existing brand, leading to a lower chance of the
business failing, as the business is already popular among customers. However, the
franchisee could have no experience at all and be clueless, which could lead to the failure of
the franchise attempt, which would cost the franchisee a lot of money, and cause the
franchisor to lose out on sales which would be available if the franchise succeded.

On the other hand, franchising does present problems to both the franchisor and the
franchisee. For example, the franchisor would experlence a loss of control over the part that
is being franchised, and therefore If the franchisee is to fall, the franchisor would have little
to no power over the situaion, meaning that it is more likely to end up In failure. There may
also be a clash of ideas between the franchisor and the franchisee, which could lead to
demotivation and therefore neither part doing the best they can. This is likely to cause both
the franchisee and the franchisor to lose out on sales, which lowers overall profits, meaning
that the franchisor might have to look at other options such as outsourcing their work, so
that they still have some kind of control and ensuring that a part of the business is given to
someone with experience who is more likely to keep the business afloat than a franchisee.
However, this depends on the situation, as it is unlikely to have a clash of ideas, meaning
that most of the time, franchising can benefit both the franchisor and the franchisee.

In conclusion, franchising does provide both the franchisor and the franchisee with benefits
such as building brand awareness and allowing the franchisee Lo gain experience, however it
is clear that there are also issues coming along with it such as a loss of control and a
potential clash of ideas, therefore meaning that franchising does not only result in benefits



































1 | 4 | “Franchising offers only benefits and no problems to franchisors and
franchisees”. Evaluate this statement. [10]
AO1 AO3 AO4
Band
2 marks 4 marks 4 marks
4 marks 4 marks
Excellent analysis of the Excellent evaluation of the
3 benefits and problems of benefits and problems of
franchising to franchisors | franchising to franchisors
and franchisees. and franchisees.
2 marks 2-3 marks 2-3 marks
Good understanding of Good analysis of the Good evaluation of the
> the benefits and problems | benefits and/or problems benefits and/or problems
of franchising to of franchising to of franchising to
franchisors and franchisors and/or franchisors and/or
franchisees. franchisees. franchisees.
1 mark 1 mark 1 mark
Limited understanding of Limited analysis of the Limited evaluation of the
the benefits of franchising | benefits and/or problems benefits and/or problems
to franchisors and/or of franchising to of franchising to
1 . . .
franchisees. franchisors and/or franchisors and/or
franchisees. franchisees.
Limited understanding of
franchising.
0 0 marks 0 marks 0 marks

No valid understanding.

No valid analysis.

No valid evaluation.






Indicative content:

Franchising occurs where a franchisor sells the right to use its name, logo, trademarks and
ideas to a franchisee. Itis common for the franchisor to supply the franchisee with products
and support them through training and the provision of marketing.

Benefits to franchisor:
As franchisees pay a fee to join the franchise as well as paying for supplies and/or royalties
from sales, this will provide a steady income for the franchisor.

As the operational responsibility is on the part of the franchisee it can be argued that the risk
is on the part of the franchisee to ensure they attract enough customers.

Problems to franchisor:
Franchisee may not follow policy leading to the risk reputational damage. It is likely that if a
franchisee causes a newsworthy problem this will be reported as a fault with the franchising
company leading to negative effects for both the franchisor and be felt by other franchisees
in terms of reduced sales.

Benefits to franchisee:

Follow a successful business model may be a very easy way to operate a business. By
simply buying a franchise, the prices are set, the promotions paid for the franchisor and the
product designed and researched by the franchisor. Therefore, this business model reduces
the workload for franchisees.

Problems to franchisee:

The ability to make decisions is one reason why entrepreneurs set up their own business. By
taking on a franchise all the major decisions are already made and the franchisee simply
follows the businesses template. As lack of decision making can be seen as leading to low
motivation this may negatively affect the franchisee.

Any other valid point.
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Sticky Note

AO1 - Benefit for the franchisor noted



Sticky Note

A second benefit for franchisors although ideally one should be dealt with fully per paragraph



Sticky Note

At this point the candidate has benefits for the franchisor and franchisee.  It would be better to seperate these into different paragraphs to build AO3 and AO4.



Sticky Note

Some AO4 judgment here although it would be better if it was clearly attached to one argument.



Sticky Note

Counter argument to further secure AO1 with some AO3 progression and use of appropriate terminology.



Sticky Note

The question doesn't ask about alternatives such as outsourcing.  However, this moves into an attempt at evaluation for AO4.



Sticky Note

A clear conclusion to secure AO4.













Sticky Note

A suitable definition to show AO1 understanding.



Sticky Note

A benefit outlined for AO1.  This is qualified with a condition to achieve formative AO4.



Sticky Note

This is a weak and unqualified point with no progression.



Sticky Note

This is a vague point which would be better explained using an example.  A point is made and weakly judged but there is nothing to support the argument in terms of AO3 analysis.





AO1 1, AO2 1, AO3 1



Sticky Note

There is a problem for the franchisor noted but the judgment is a reiterate of the earlier point.

The candidate has focused on franchisors and ignored franchisees therefore has ignored a large proportion of the question.










AO1 2, AO3 1, AO4 1



Sticky Note

Growth is a benefit, although the franchisor may own the building and rent it to the franchisor.



Sticky Note

A benefit for franchisors and franchisors is claimed in AO1.  However, it would be better to have these as seperate paragraphs.



Sticky Note



TAspinall

Sticky Note

At this point an advantage and disadvantage have been claimed moving into level 2 for AO1 



Sticky Note

Some progression for AO3 and Judgment for AO4 but the Ao3 development is not technical or extended.  Equally, Ao4 is based on little as there is no significant argument to judge.










“Franchising offers only benefits and no problems to franchisors and
franchisees.” Evaluate this statement. [10]




















Q21

1. One way in which social changes may affect the product portofolio of a business making
breakfast cereal Is through children's taste. Cereal Iz largely a product designed for children,
and children, especially In today's society, change their tastes very quickly. This means that
a business needs to be smart about the cereal it produces, as it may be popular ane day,
and then completely die out the next, this means that the business has to then spend loads
of money on innovation, research and development, resulting in high costs for a product
that may still fail to succeed.
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2 | 1 | Explain how social changes may affect the product portfolio of a business
producing breakfast cereals. [10]
AO1 AO2 AO3
Band
4 marks 4 marks 2 marks
4 marks 4 marks
Excellent understanding of | Excellent application of
3 how social changes may social changes upon the
affect the product portfolio. | product portfolio of a
business producing
breakfast cereals.
2-3 marks 2-3 marks 2 marks
Good understanding of Good application of the Good analysis of social
how social changes may impact of social changes changes upon the product
2 affect the product portfolio. | upon affect the product portfolio.
portfolio of a business
producing breakfast
cereals.
1 mark 1 mark 1 mark
Limited understanding of Limited application of Limited analysis of the
1 how social changes may social changes upon the impact of social changes
affect the product portfolio. | product portfolio of a upon the product portfolio.
business producing
breakfast cereals.
0 marks 0 marks 0 marks
No understanding of the No application of social No analysis of the impact
0 product portfolio or social changes upon the product | of social changes upon the
change. portfolio of a business product portfolio.
producing breakfast
cereals.

Indicative content:

As the population is becoming more elderly a business selling breakfast cereal may develop
products particularly for an older age range. Cereal with added minerals or a high fibre
content may entice this older age range to select a product containing age specific health
benefits.

Many people have busy work lives and prefer to start the commute to work and have
breakfast on the way. To cater for customers on the move a business selling breakfast
cereal may wish to produce breakfast snack bars. As these products can be easily stored in
a pocket or bag and consumed later this product will help to maintain sales even though
breakfast cereal is not being consumed in the traditional way with milk.

Increased gym usage has gone hand in hand with the development of protein rich food
products. A high protein breakfast cereal could be developed to target those engaging in
sport and exercise, particularly those aiming to gain muscle.





Weetabix has developed a version of its product that is contained within a drink format.
Although this is a departure from the traditional Weetabix product this still enables
consumers to purchase the breakfast cereal for consumption in another format helping
maintain sales.

As family sizes are becoming smaller cereal manufacturers could release the product in
different pack sizes to appeal to households consuming cereal at different rates. This may
attract customers of all kinds, whether a single person household concerned about the
cereal going out of date before being finished or a large family seeking a large pack size due
to the usually lower price per gram.

Credit any other valid point.










AO1 2, A02 1, AO3 1



Sticky Note

Healthy eating is a valid point which achieves AO1.  The AO2 is generated by applying to the situation.  A knock on effect is then developed for AO3.



Sticky Note

This point is generic and doesn't clearly relate to the context therefore is of limited value and does not attract marks.










Q.21 1 One way in which social changes may affect the product portofolio of a business making
breakfast cereal Is through children's taste. Cereal Iz largely a product designed for children,
and children, especially In today's society, change their tastes very quickly. This means that
a business needs to be smart about the cereal it produces, as it may be popular ane day,
and then completely die out the next, this means that the business has to then spend loads
of money on innovation, research and development, resulting in high costs for a product

that may still fail to succeed. AO1 1, AO3 1



Sticky Note

The point of changing tastes is taken as AO1.  This is not significantly developed in terms of product modification in a way that is specific to cereal therefore no AO2 is achieved.  The candidate has some development but at a low level for AO3 1.
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Sticky Note

This is an applied point relevant to social change for AO1 and AO2.  The candidate goes on to analyse the implications upon the changing portfolio and how product elements may be adjusted to cater for the change.
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Sticky Note

Demographics such as an aging population are part of social change.  The candidate applies these changes to the needs of an aging population.  Implications for packaging and pricing are also noted although these are not fully reasoned through and would be better in separate paragraphs.










2. Changing environments

EIIl Explain how social changes may affect the product portfolio of a business
producing breakfast cereals. [10]




















Q.22

2. The growth of a business may have a positive Impact on all of its employees. This is
because as a business grows, there are more resposibilities to be delegated to employees,
which is good for them as It will make them feel more motivated, as they will feel more
valued at the business, which Is good because more motivated employees usually results in
higher quality service, and more efficent working, which is good for the employees as they
are showing commitment and dedication, which in the future, will allow them to work their
way up to bonuses and promotions, meaning that they are successful employees, who are
filled with both social and manufacturing skills, therefore if they were to ever lose their jobs,
they will be able to find one quicker and easier, than if they were to be demotivated and
unskilled, However, if too much responsibility is delegated onto an employee or more, then
those employees will have a high amount of pressure on their shoulders, which could
demotivate them and therefore cause them to be less efficient and service to be poorer,

However, the growth of a business may have a negative impact on some of its employees,
depending on the type of groth. If a business was to externally grow, through a merger for
example, then some job titles will not be required anymore. For example, there will not be a
requirement for the managers of both companies, so some will either be transported to
alternate job titles or completely be let go, in order to achieve managerial economies of
scale, to grow even further. This is bad as these manegrs, who had a high job title and were
confident about their abilites, have had their confidence shattered as they have now lost
their manager title, having to work as assistant managers or having to find another job
altogether. This is highly demotivating and may cause these employees to struggle to find
alternate jobs or fit into their alternate job titles properly. This can also lead to jealousy
between managers who have been kept and managers who have been let go. However, If a
business Is to grow through organic growth, then this will not be an Issue as the employees
will be kept, and the managers will get to keep their roles, therefore not being demotivated,
and working successfully.

The growth of a business may also result in some employees having to bet let go in favour
of higher-skill workers. If a business keeps growing and it gets to the point where its current



TAspinall

Sticky Note

The point of changing tastes is taken as AO1.  This is not significantly developed in terms of product modification in a way that is specific to cereal therefore no AO2 is achieved.  The candidate has some development but at a low level for AO3 1.
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workforce does not posses the neccesary skill to keep the business growing further, then
these employees may be found lower alternate titles or be completely let go in order to
employ higher-skill employees, so that the business does not overgrow, and it is able to
keep control of its growth, These employees will also feel demotivated and will either have
to look for other jobs, which they may struggle to find due to their demotivation, or have to
settle for a different job at the company, which usually pays less and Is less important than
their position before. However, this can be avoided if the business is able to pay for the
training process, to ensure that the employees are ready for the work being thrown at
them, if these employees are trained instead of let go, then they will not be demotivated, as
they are developing their skills further, whilst still keeping their positions.

In conclusion, the growht of a business will have a positive Impact on the majority of its
employees, however some will experience a negative impact, sa some will have to be let go
or switched to an alternate position, which they may not feel comfortable with, which can
lead to them feeling demaotivated, meaning that they will struggle to find different
employment, or keep working at their current jobs in an alternate lower position, where
they are likely to be unhappy.
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2 | 2 | To what extent is the growth of a business likely to have a positive impact on all
its employees? [20]
AO1 AO3 AO4
Band
4 marks 8 marks 8 marks
6-8 marks 6-8 marks
Excellent analysis of the Excellent evaluation of the
effect of growth upon effect of growth upon
employees. employees.
Key issues have been well | The evaluation is balanced
developed with a clear line | and detailed.
3 of reason.
Clear judgements are made
In-depth analysis required | with supporting statements to
for this band. build an argument.
A holistic evaluation may be
offered with an overall
conclusion.
3-4 marks 3-5 marks 3-5 marks
Good understanding of Good analysis of the effect | Good evaluation of the effect
the effect of growth upon | of growth upon of growth upon employees.
employees. employees.
The evaluation provides a
Points will agree and The analysis is uneven reasonably well-balanced
disagree with the with some well-developed | argument.
2 statement. points and others which
are more limited in their The candidate makes
development. judgements with some
attempt to support their
evaluation.
The answer may contain a
brief conclusion.
1-2 marks 1-2 marks 1-2 marks
Limited understanding of | Limited analysis of the Limited evaluation of the
the effect of growth upon | effect of growth upon effect of growth upon
employees. employees. employees.
1 Points will agree and/or Superficial analysis. Judgements are superficial
disagree with the and unsupported.
statement.
The evaluation is uneven and
one-sided.
There is no conclusion
0 marks 0 marks 0 marks
0 No meaningful No meaningful analysis. No meaningful evaluation.

understanding.






Indicative content:
Arguments in favour:

Financial incentives are likely to be achieved if a business is growing. Therefore, it is likely
that managers may achieve bonuses and sales staff may achieve high levels of commission.
As a result, the financial gain will be a benefit to these types of employees within the
organisation.

Throughout the organisation, objectives will be set through both workforce appraisals and
managerial objectives. As growth would indicate an increase in sales and production, it is
likely these objectives will be met. Goal achievement can be motivating for employees and
so this will support the argument that growth will have a positive impact.

Growth will lead to developments in the organisation structure. Promotion opportunities may
be more abundant as the business becomes larger. This presents an increased range of
opportunities for employees. According to Maslow, esteem can be achieved through
promotion as this will lead to a sense of self-development. Therefore, growth can provide a
positive experience for employees.

A successful and growing business may give a sense of safety to employees. Busy and
successful businesses may be less likely to make redundancies and so provide employees
with a sense of employment security. As this will reduce stress for employees, growth could
be seen as a benefit.

Arguments against:

Particularly in manufacturing businesses, growth can lead to an increase in capital intensity.
As employees on a production line may be replaced by machines, growth cannot be seen as
a benefit for all employees.

A need for increased space as a business grows may sometimes lead to businesses
relocating. Some employees may have a longer commute to work or perhaps find it
impractical to move to within commuting distance of the new site and so some staff may
have to leave the business. Therefore, if business growth leads to re-location this may not
benefit all employees.

In the short term, growth may lead to an increased workload for mangers with a widening
span of control. Equally, a wider span of control can mean that employees do not receive as
much attention from their line manager as they would like. Therefore, in the case of both the
superior and subordinate, a widening span of control cannot be seen as a benefit.

Lengthening chains of command in growing businesses can negatively affect the speed of
communication from the top to the bottom of the hierarchy. Therefore, the increasing number
of layers within the organisation can leave lower-level employees demotivated due to a lack
of empowerment and inability to influence the organisation.

Growth may be achieved through merger or takeover. As this can lead to roles being

duplicated and team structures needing to be changed this may lead to insecurity for
employees or redundancies. Therefore, growth may not always be beneficial to employees.

Credit any other valid point.










AO1 2, A0O3 2, AO4 1



Sticky Note

AO1  This is possible although not necessarily the case



Sticky Note

The candidate has positives and negatives at this stage for AO1.  Some consequences are present for AO3.  There is low level formative judgment as to the effect on employees for AO4 but this is very low level.



Sticky Note

A suitable point but this is undeveloped.



Sticky Note

Overall, the candidate would do better to think about different types of employees with different situations rather than considering them all as being impacted in the same way.  This would allow a more diverse and higher scoring response.










Q.22 2. The growth of a business may have a positive Impact on all of its employees. This is
because as a business grows, there are more resposibilities to be delegated to employees, E
which is good for them as It will make them feel more motivated, as they will feel more
valued at the business, which Is good because more motivated employees usually results in
higher quality service, and more efficent working, which is good for the employees as they
are showing commitment and dedication, which in the future, will allow them to work their
way up to bonuses and promotions, meaning that they are successful employees, who are
filled with both social and manufacturing skills, therefore if they were to ever lose their jobs,
they will be able to find one quicker and easier, than if they were to be demotivated and
unskilled, However, if too much responsibility is delegated onto an employee or more, then
those employees will have a high amount of pressure on their shoulders, which could
demotivate them and therefore cause them to be less efficient and service to be poorer,

However, the growth of a business may have a negative impact on some of its employees,
depending on the type of groth. If a business was to externally grow, through a merger for
example, then some job titles will not be required anymore. For example, there will not be a
requirement for the managers of both companies, so some will either be transported to
alternate job titles or completely be let go, in order to achieve managerial economies of
scale, to grow even further. This is bad as these manegrs, who had a high job title and were
confident about their abilites, have had their confidence shattered as they have now lost
their manager title, having to work as assistant managers or having to find another job
altogether. This is highly demotivating and may cause these employees to struggle to find
alternate jobs or fit into their alternate job titles properly. This can also lead to jealousy
between managers who have been kept and managers who have been let go. However, If a
business Is to grow through organic growth, then this will not be an Issue as the employees
will be kept, and the managers will get to keep their roles, therefore not being demotivated,
and working successfully.

The growth of a business may also result in some employees having to bet let go in favour
of higher-skill workers. If a business keeps growing and it gets to the point where its current



TAspinall

Sticky Note

The point of changing tastes is taken as AO1.  This is not significantly developed in terms of product modification in a way that is specific to cereal therefore no AO2 is achieved.  The candidate has some development but at a low level for AO3 1.



Sticky Note

A good AO1 mark leading to motivation and other effects to generate AO3.  Progression is clear and a relevant judgment is given for AO4.



Sticky Note

It is always useful to have a counterpoint.  This response contains managerial economies of scale which will help to build analysis and is well linked.  Again, a relevant judgement is created.





9.\"_-\'0('5 ﬁ’aPG'
workforce does not posses the neccesary skill to keep the business growing further, then
these employees may be found lower alternate titles or be completely let go in order to
employ higher-skill employees, so that the business does not overgrow, and it is able to
keep control of its growth, These employees will also feel demotivated and will either have
to look for other jobs, which they may struggle to find due to their demotivation, or have to
settle for a different job at the company, which usually pays less and Is less important than
their position before. However, this can be avoided if the business is able to pay for the
training process, to ensure that the employees are ready for the work being thrown at
them, if these employees are trained instead of let go, then they will not be demotivated, as
they are developing their skills further, whilst still keeping their positions.

In conclusion, the growht of a business will have a positive Impact on the majority of its
employees, however some will experience a negative impact, sa some will have to be let go

or switched to an alternate position, which they may not feel comfortable with, which can

lead to them feeling demaotivated, meaning that they will struggle to find different E
employment, or keep working at their current jobs in an alternate lower position, where

they are likely to be unhappy.

AO1 4, AO03 5, AO4 4



Sticky Note

Here the candidate finds another technical point for a different group of workers.  Looking at different groups of workers allows the candidate to extend their response.  
Similar themes of motivation come up as in previous sections there the student is not significantly breaking new ground and developing their AO3 fully.



Sticky Note

A valid conclusion which to a large extent is a summary rather than weighing up the most and least effected employees therefore is of limited value.
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Sticky Note

The candidate picks managers as a type of employee which will help separate their answer into different themes.  Bonuses may be more relevant to managers, but commission is more related to sales staff.  However, there is a reasonable attempt at using business terminology for AO3.



Sticky Note

This is again a good point in terms of promotion which stays with the point of monetary gain.  There is an attempt to give a value to the level of benefit for low level AO4.



Sticky Note

Here a suitable counterpoint is used to build some AO4



Sticky Note

The second problem isn't really necessarily here as a counterpoint.  The candidate is in danger of squeezing in too many issues with little real AO3 development.
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Sticky Note

Here the student reiterates that there are issues with little further development of AO4.



Sticky Note

This is a good AO1 point focusing on a different type of growth.



Sticky Note

Implications are noted again for AO3 development.  It would be good to see some theory to back up these ideas.



Sticky Note

This is a good counterpoint regarding those that remain in the larger business and this helps generate AO4.



Sticky Note
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Sticky Note

This is a reasonable point for a particular group of staff for AO1 which carries a counterpoint later for AO4.  It would be nice to see issues such as diseconomies of scale featured here.
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Sticky Note

As in many cases, the student has repeated the earlier points and created a summary rather than weighing up the strengths of the issues.  Therefore, this conclusion offers little which is new and restricts their ability to build Ao4 further.










To what extent is the growth of a business likely to have a positive impact on
all its employees? [20]











































































































